H & 0l & AHS B Ml A

SA AFY
M FHRENA
Rl ZAIFAEE A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ralg; 44,167,996 41,098,822 3,069,174
= 36,411,767
Jl 270,000
= 2,973,680
Al 4,512,549
FHeZ e 43,740,150 40,470,911 3,269,239
= 36,411,767
) 270,000
= 2,973,680
Al 4,084,703
CA=HEE e 307,634 84,400 223,234
= 128,167
[ 38,000
Al 141,467
=010t Mel 13,000 13,800 A800
201 er2 3| 10,800 12,000 21,200
01 At2t2lt] 10,800 12,000 1,200
OAHFSHYZA ZAF U2 10,800
203 HR=AH] 2,200 1,800 400
03 A= LR F&IH| 2,200 1,800 400
OA=HY PR 2,200
AEA2 22 28,000 18,700 9,300
201 et 3| 28,000 18,700 9,300
01 AtR2tc|Hl 28,000 18,700 9,300
OAU=RARE 29 28,000
S3A=E 282 2¢ 10,800 30,000 /19,200
201 el 10,800 30,000 219,200
01 At2t2ltl 10,800 30,000 19,200
Os&A=E EASLE 2 10,800
AFOHMME 29 2,500 21,900 219,400
= 1,500
Al 1,000
201 ZBt=Ehl 2,500 11,000 /8,500
= 1,500
Al 1,000
01 AtR2tc|Hl 1,500 9,000 AT7,500
OAZHTHE 2 1,500
= 1,500
02 S3=gHl 1,000 2,000 21,000
OUFCHMHE =2 1,000
oHf ot& 422 AE 253,334 0 253,334
= 126,667




SA AFY
LIS by
el EAIFAHEE O (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 38,000
Al 88,667
402 QIF X201 & 253,334 0 253,334
= 126,667
== 38,000
Al 88,667
02 QI TH2AILEE (01X THE) 253,334 0 253,334
O3 &t ds22 X 253,334
= 126,667
=S 38,000
Al 88,667
FHARKE 42,963,728 39,754,811 3,208,917
= 36,283,600
Jl 270,000
= 2,8%,680
Al 3,514,448
F=HSN 38,007,290 36,781,211 2,226,079
= 34,695,000
< 2,698,500
Al 613,790
301 EtE NS 35,614,290 33,406,120 2,208,170
= 32,541,300
== 2,530,990
Al 542,000
01 Al 2E A S(SRNEXMHE) 35,614,290 33,406,120 2,208,170
OMASE FAHSH(YX=A) 35,614,290
= 32,541,300
=S 2,530,990
Al 542,000
403 AXIEHHSAH=201H 2,393,000 2,375,091 17,909
= 2,153,700
= 167,510
Al 71,790
02 SVI2S0 U H=E S AL 2,393,000 2,375,091 17,909
OMASE FAHSH(=ESRA) 2,393,000
= 2,153,700
= 167,510
Al 71,790
FEHIRX A 70,000 100,000 30,000
301 2N = 70,000 100,000 30,000
03 A2 E A =TS (XL THH) 70,000 100,000 230,000
Ot (d=8 =Ha0) 70,000
UM Al SEXE 872,808 1,305,000 A432,192




SA AFY
M FHENA
Chelr =HAXKIS (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 582,160
=S 174,648
Al 116,000
301 EetE2 NS 872,808 1,305,000 A432,192
= 582,160
= 174,648
Al 116,000
01 Al EE AT S (2 RDEXA) 872,808 1,305,000 A432,192
OFIEAN BtAl SEXH 872,808
= 582,160
= 174,648
Al 116,000
HZeS e8! REAHIA XIE 4,000 4,000
201 er2 3| 4,000 4,000
02 S3=gHl 4,000 4,000
oggteH 4,000
FH=EXRAES 28 1,350 1,500 A150
201 2= 1,350 1,500 A150
01 AtR2t2lt] 1,350 1,500 A150
OFNH=EXNAA 28+ 1,350
HdFE FHENHERT 24 3,500 5,000 21,500
201 Ler23| 3,500 5,000 21,500
01 At2teltl 3,500 5,000 1,500
OdFE FHSANUERD 28 3,500
FHEX MBIA Zat 5,000 10,000 A5,000
201 ZBt=3hl 5,000 10,000 5,000
01 AtR2te|HI 5,000 10,000 25,000
OFN=X AHIA H3t 5,000
Al =H=AHH 29 367,000 349,000 8,000
307 212+01& 367,000 349,000 8,000
05 2ItRIE = 357,000 349,000 8,000
OHFAl =AHSKIHE 29 357,000
HFE AR S5 1,050,000 0 1,050,000
= 950,000
Al 100,000
401 A& HIX R0 1,050,000 0 1,080,000
= 950,000
Al 100,000
01 A28l 1,050,000 0 1,050,000
OX=E A2IFE 35 1,080,000
= 950,000
Al 100,000




SA AFY
HE: ZHBENM
Chelr =HAXKIS (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HE=e MR8 2= =4 4,500 5,000 A500
201 er23 | 4,500 5,000 A500
01 At2teltl 4,500 5,000 A500
OAt2| =8 AIHEE 1,060
OAAXIMNTH SEBs WsTA-E 1,160
OA2IF=8 dF AARIES SAt=E 2,280
LS U= =2 200,000 740,000 £540,000
401 Al HIZL S 0HYI 200,000 740,000 540,000
01 Al&HI 200,000 740,000 /540,000
OFHMMLAUFE 5= 200,000
MASHE 2UHEES XNYF(ZHIEFRY) 324,900 324,900
501 EXt=2 324,900 324,900
01 2Its A= 324,900 324,900
OMASHE dU=ESE NEH 324,900
SHYUOHIE SS8II2s ANE 86,000 66,000 20,000
301 EetE NS 86,000 66,000 20,000
03 A 2E A4S (XL THH) 86,000 66,000 20,000
OgRSUOILE s=sHI|= X 86,000
HIHXIBE X At 4,500 5,000 A500
201 2egh=3| 4,500 5,000 A500
01 At2t2ltl 4,500 5,000 A500
ONIUXIEIR X At 4,500
MERR SZYU=H UESS XS (=HIHE 1,300,000 0 1,300,000
=)
501 Ekt= 1,300,000 0 1,300,000
01 2I2t&s A= 1,300,000 0 1,300,000
OMBRE ZRANFH AULES XA
e 1,300,000
FHFAAHS OlAEl K AHS 16,000 0 16,000
= 8,000
= 8,000
301 EtE NS 16,000 0 16,000
= 8,000
== 8,000
01 Al EEABZ2(2REER) 16,000 0 16,000
OFNHFAAS OlAHHl KIRAAS 16,000
= 8,000
< 8,000
Y MNESstteEs 255 NEAY 43,680 0 43,680
= 21,840
= 6,552
Al 16,288




SA AFY
LIS by
SRl FHARKIZ (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 43,680 0 43,680
= 21,840
== 6,552
Al 15,288
01 AR 2EHSHS(RNEXRTHE) 43,680 0 43,680
Oozd MNES=EES 252 XA 43,680
= 21,840
=S 6,552
Al 15,288
NASHE =58 N2+ 540,000 985,000 A445,000
Jl 270,000
Al 270,000
101 @124H| 292,000 534,000 A242,000
Jl 146,000
Al 146,000
MU IIRINZZENSES 292,000 534,000 A242,000
ONASHE = HEx 292,000
) 146,000
Al 146,000
206 M=l 238,000 436,000 198,000
Jl 119,000
Al 119,000
01 MHZH| 238,000 436,000 A198,000
OMASHE == HE* 238,000
Il 119,000
Al 119,000
401 AlZHIZ 2018 10,000 15,000 25,000
Jl 5,000
Al 5,000
01 A28l 10,000 15,000 25,000
OMASHE =2 2+ 10,000
Il 5,000
Al 5,000
ZOHQIFER DALY 53,200 53,200 0
= 26,600
== 7,980
Al 18,620
402 2I2EX=201H 53,200 53,200 0
= 26,600
= 7,980
Al 18,620
02 QI XHE AL E R (01X THE) 53,200 53,200 0
(OFSV RIESS ) EAYN s 53,200




SN ASD
B FEAHA
Chelr =HAXKIS (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 26,600
=S 7,980
Al 18,620
NASE 22 uA XA 20,000 20,000 0
402 212 X201 & 20,000 20,000
01 QIIN AL EZ (XM THR) 20,000 20,000
ONASE =2 wH X2 20,000
oIlotRA XIE 286,468 281,460 5,008
= 40,000
Al 246,468
SHIIGHR A AFH 246,468 281,460 N34,992
201 er23| 105,468 130,460 N24,992
01 AtR2t2|HI 86,868 106,860 19,992
OdiLIoHR A At 86,868
@0 ILISHRANEH 2| 30,000
OS==SHH 3,348
Qo LISIRAME &S 3,600
=2l 3,360
{_DNF=a= Pt 46,560
02 35244l 18,600 21,600 23,000
OndfillotA SS2EH| 18,600
0323 & WAl 9,600
@A E & | 9,000
202 O4H| 5,000 6,000 1,000
01 2L A 5,000 6,000 A1,000
OdiLIoHR A At 5,000
206 M=l 136,000 120,000 16,000
01 M= H| 136,000 120,000 16,000
OofiLlotRA Ar 136,000
@ AHIA XK 134,000
QXTI B2XE S FHE M 2,000
NAEtES S2HEH SAE (S ZO0AH 40,000 0 40,000
== 40,000
401 Al HIZ 2018 40,000 0 40,000
= 40,000
01 Al&HI 40,000 0 40,000
OMNSES ==5HH 2AY 40,000
< 40,000
TAIF2 2] 182,320 350,240 167,920
SNy oRAs 29 4,320 4,800 A480
201 et 3| 4,320 4,800 A480
01 At22t2l] 4,320 4,800 A480
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